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MINERAL NUTRITION

Textbook Questions And Answers

1. Identify the correct match. 

 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MiyvbC3CF7Wf


A. 1. (iii) 2. (ii) 3. (iv) 4. (i)

B. 1. (iii) 2. (i) 3. (iv) 4. (ii)

C. 1. (i) 2. (iii) 3. (ii) 4. (iv)

D. 1. (iii) 2. (iv) 3. (ii) 4. (i)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MiyvbC3CF7Wf


2. If a plant is provided with all mineral

nutrients but, Mn concentration is increased,

what will be the deficiency?

A. Mn prevent the uptake of Fe, Mg but not

Ca

B. Mn increase the uptake of Fe, Mg and Ca

C. Only increase the uptake of Ca

D. Prevent the uptake Fe, Mg, and Ca

Answer: A

W h Vid S l i

https://dl.doubtnut.com/l/_PmhOGJ2DCvKG


Watch Video Solution

3. The element which is not remobilized?

A. Phosphorus

B. Potassium

C. Calcium

D. Nitrogen

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PmhOGJ2DCvKG
https://dl.doubtnut.com/l/_enAbSwLr63mD
https://dl.doubtnut.com/l/_ZdUpnqlqbuKm


4. Match the correct combination. 

A. A-1, B-3, C-4, D-2

B. A-2, B-1, C-3, D-4

C. A-4, B-3, C-1, D-2

D. A-4, B-2, C-1, D-3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ZdUpnqlqbuKm


5. Identify the correct statement:

A. (i), (ii) are correct

B. (i), (ii), (iii) are correct

C. only correct

D. all are correct

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_ZdUpnqlqbuKm
https://dl.doubtnut.com/l/_21HAacVZGmh1
https://dl.doubtnut.com/l/_HaSSOGhbhSba


6. The nitrogen is present in the atmosphere

in huge amount but plants fail to utilize it .

Why ?

Watch Video Solution

7. Why is that in certain plants deficiency

symptoms appear first in parts of the plants

while in others, they do so in mature organs?

Watch Video Solution

https://dl.doubtnut.com/l/_HaSSOGhbhSba
https://dl.doubtnut.com/l/_SQyWTNNV4JHi


8. Plant A in a nutrient medium shows whiptail

disease. Plant B in a nutrient medium shows a

Little leaf disease. Identify mineral deficiency

of plant A and B ?

Watch Video Solution

9. Write the role of nitrogenase enzyme in

nitrogen fixation?

Watch Video Solution

https://dl.doubtnut.com/l/_ZAkopIDe2bsc
https://dl.doubtnut.com/l/_aGLiGn2PiIXV
https://dl.doubtnut.com/l/_X6buShCFsFgi


Other Important Questions Answers Mcqs

10. Explain the insectivorous mode of nutrition

in angiosperms?

Watch Video Solution

1. Plants naturallly obtain nutrients from

A. atmosphere

B. water

C. soil

https://dl.doubtnut.com/l/_X6buShCFsFgi
https://dl.doubtnut.com/l/_wp7CVRnZnTAQ


D. all of these

Answer: D

Watch Video Solution

2. Which of the following are included under

micro nutrients:

A. sodium, carbon and hydrogen

B. magnesium, nitrogen and silicon

C. sodium, cobalt and selenium

https://dl.doubtnut.com/l/_wp7CVRnZnTAQ
https://dl.doubtnut.com/l/_646vfu9G5rap


D. calcium, sulphur and potassium

Answer: C

Watch Video Solution

3. Who coined the term 'Hydroponics':

A. Julius Von Sachs

B. William Frederick Goerick

C. Liebig

D. Wood word

https://dl.doubtnut.com/l/_646vfu9G5rap
https://dl.doubtnut.com/l/_fLfE998xHZwl


Answer: B

Watch Video Solution

4. Selenium is essential for plants:

A. to prevent water lodging

B. to enhance growth

C. to resist drought

D. to prevent transpiration

Answer: A

https://dl.doubtnut.com/l/_fLfE998xHZwl
https://dl.doubtnut.com/l/_UIjhzvTX0qTK


Watch Video Solution

5. Give examples of actively mobile minerals.

A. nitrogen and phosphorus

B. iron and manganese

C. sodium and cobalt

D. silicon and selenium

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_UIjhzvTX0qTK
https://dl.doubtnut.com/l/_Yb4bPpGzYeaj


6. Deficiency symptoms first appear on young

leaves due to

A. less active movement of minerals to

younger leaves

B. active movement of minerals

C. the immobile nature of mineral

D. none of the above

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Yb4bPpGzYeaj
https://dl.doubtnut.com/l/_hWEbFjsystyt


7. Molybdenum is essential for the reaction of:

A. hydrolase enzyme

B. nitrogenase enzyme

C. carboxylase enzyme

D. dehydrogenase enzyme

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_hWEbFjsystyt
https://dl.doubtnut.com/l/_Z5MUw6zUhlhi
https://dl.doubtnut.com/l/_hJb85G2xge4g


8. Match the following: 

A. A-(ii), B-(i), C-(iv), D-(iii)

B. A-(iii), B-(ii), C-(i), D-(iv)

C. A-(ii), B-(iv), C-(i), D-(iii)

D. A-(iii), B-(iv), C-(i), D-(ii)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_hJb85G2xge4g


9. Nitrogen is the essential component of:

A. carbohydrate

B. fatty acids

C. protein

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_hJb85G2xge4g
https://dl.doubtnut.com/l/_4RtaPsCi7umH


10. Which of the element is involved in the

synthesis of DNA and RNA:

A. calcium

B. magnesium

C. sulphuric

D. potassium

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MZ58J5tuxlnW
https://dl.doubtnut.com/l/_JFAAmTvRLFxO


11. The deficiency of magnesium is the plant

causes:

A. necrosis

B. interveinal chlorosis

C. sand drown of tobacco

D. all the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JFAAmTvRLFxO


12. Sulphur is an essential components of

amino acids like:

A. histidine, leucine and aspartic acid

B. valene, alkaline and glycine

C. cystine, cysteine and methionine

D. none of the above

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_X0OebAcdrX5h
https://dl.doubtnut.com/l/_CoSFgr2ZEPuv


13. Indicate the correct statement

A. (i) and (ii)

B. (ii) and (iv)

C. (ii) and (iii)

D. (i) and (iii)

Answer: D

Watch Video Solution

14. Khaira disease of rice is caused by:

https://dl.doubtnut.com/l/_CoSFgr2ZEPuv
https://dl.doubtnut.com/l/_DTX7vvUvUkMJ


A. deficiency of boron

B. deficiency of zinc

C. deficiency of iron

D. deficiency of all the three

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DTX7vvUvUkMJ


15. Match the following: 

A. A- (ii), B- (iii), C- (i), D- (iv)

B. A- (iii), B- (ii), C- (iv), D- (i)

C. A- (iii), B- (i), C- (iv), D- (ii)

D. A- (iv), B- (iii), C- (i), D- (ii)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tnEEGoefdLoK


16. Increased concentration of manganese in

plants will prevent the uptake of:

A. calcium and potassium

B. sodium and potassium

C. boron and silicon

D. iron and magnesium

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_tnEEGoefdLoK
https://dl.doubtnut.com/l/_P4T08uH9BLkB


17. Which of the statement is not correct?

A. Aluminium toxicity causes the

appearance of brown spots in the leaves.

B. Aluminium toxicity causes the

precipitation of nucleic acid.

C. Aluminium toxicity inhibits ATPase

activity

D. Aluminium toxicity inhibits cell division.

https://dl.doubtnut.com/l/_P4T08uH9BLkB
https://dl.doubtnut.com/l/_Ixp3jAEA4Glm


Answer: A

Watch Video Solution

18. The techniques of Aeroponics was

developed by:

A. Goerick

B. Arnon and Hoagland

C. Soifer Hillel and David Durger

D. Von Sachs

https://dl.doubtnut.com/l/_Ixp3jAEA4Glm
https://dl.doubtnut.com/l/_T8P5EhZfpkYZ


Answer: C

Watch Video Solution

19. Nitrogen occurs in atmosphere in the form

of , two nitrogen atoms joined together by

strong:

A. di-covalent bond

B. triple covalent bond

C. non-valent bond

D. none of these

N2

https://dl.doubtnut.com/l/_T8P5EhZfpkYZ
https://dl.doubtnut.com/l/_8Vf8h9yvgDRK


Answer: B

Watch Video Solution

20. The process of converting atmospheric

nitrogen  into ammonia is termed as:

A. nitrogen cycle

B. nitrification

C. nitrogen fixation

D. ammonification

(N2)

https://dl.doubtnut.com/l/_8Vf8h9yvgDRK
https://dl.doubtnut.com/l/_zvlUTGR0yBNL


Answer: C

Watch Video Solution

21. Find out the odd organism:

A. Rhizobium

B. Cyanobacteria

C. Azolla

D. Pistia

Answer: D

https://dl.doubtnut.com/l/_zvlUTGR0yBNL
https://dl.doubtnut.com/l/_Su1iWUg8h2pJ


Watch Video Solution

22. The legume plants secretes phenolics to

attract:

A. Azolla

B. Rhizobium

C. Nitrosomonas

D. Streptococcus

Answer: B

https://dl.doubtnut.com/l/_Su1iWUg8h2pJ
https://dl.doubtnut.com/l/_41eVJaUb5TUD


Watch Video Solution

23. Which are the organisms help in nitrogen

fixation of lichens:

A. Anabaena and Nostoc

B. Anabaena alone

C. Nostoc alone

D. Anabaena azollae

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_41eVJaUb5TUD
https://dl.doubtnut.com/l/_p5StBtTUzqNR


24. Nitrogenase enzyme is active:

A. only in aerobic condition

B. only in anaerobic condition

C. both in aerobic and anaerobic condition

D. only in toxic condition

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_p5StBtTUzqNR
https://dl.doubtnut.com/l/_QHjEMd7pLs0k
https://dl.doubtnut.com/l/_BJhK07RpRc9i


25. Ammonia  is converted into nitrite

 by a bacterium called:

A. Nitrobacter bacterium

B. Rhizobium

C. Anabaena azollae

D. Nitrosomonas

Answer: D

Watch Video Solution

(NH +
3 )

(NO−
2 )

https://dl.doubtnut.com/l/_BJhK07RpRc9i


26. Decomposition of organic nitrogen

(proteins and amino acids) from dead plants

and animals into ammonia is called:

A. nitrification

B. ammonification

C. nitrogen fixation

D. denitrification

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_VSIBe72IdHu6


27. The bacteria involved in the denitrification

process are:

A. E.coli and Anabaena

B. Streptococcus and Bacillus vulgaris

C. Pseudomonas and Thiobacillus

D. none of the above

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_lkY36FP1NQiO
https://dl.doubtnut.com/l/_825YMkG47J3j


28. In the process of ammonium assimilation:

A. Ammonia is converted into nitrites

B. Ammonia is converted into atmospheric

nitrogen

C. Ammonia is converted into ammonium

ions

D. Ammonia is converted into amino acids

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_825YMkG47J3j


29. The transfer of amino group  from

glutamic acid to keto group of keto acid is

termed as:

A. Transamination

B. Hydrogenation

C. Nitrification

D. De nitrification

Answer: A

Watch Video Solution

(NH2)

https://dl.doubtnut.com/l/_faGQKD5DzelW


30. Monotrapa (Indian pipe) absorbs nutrients

through:

A. Rhizobium association

B. mycorrhizal association

C. microbial association

D. animal association

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_pXEtvNnERvq4
https://dl.doubtnut.com/l/_wGOq7Zp0WAnm


31. Cuscuta is an example of _________

A. partial parasite

B. total root parasite

C. obligate stem parasite

D. partial stem parasite

Answer: C

Watch Video Solution

32. Indicate the correct statement:

https://dl.doubtnut.com/l/_wGOq7Zp0WAnm
https://dl.doubtnut.com/l/_y8xSpOngg0mp


A. Loranthus grows on banana and

coconut

B. Loranthus grows on fig and mango trees

C. Balanophora is a stem parasite

D. Viscum is a root parasite

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_y8xSpOngg0mp


33. The association of mycorrhizae with higher

plants is termed as:

A. Parasitism

B. Mutualism

C. Symbiosis

D. Saprophytic

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_5i0NxiyXsz8A
https://dl.doubtnut.com/l/_Lk2HJGWzNQhu


34. In Utricularia, the bladder is a modified

form of:

A. leaf

B. stem

C. tentacle

D. lamina

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Lk2HJGWzNQhu


35. Lichens are the indicators of:

A. carbon monoxide

B. nitrogen oxide

C. sulphur di oxide

D. hydrogen sulphide

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_kvQtV2o5Ts7x


Other Important Questions Answers Answer The

Following

1. Define micro nutrients of plants.

Watch Video Solution

2. Mention any two actively mobile minerals.

Watch Video Solution

https://dl.doubtnut.com/l/_9a5pwIfHdtRj
https://dl.doubtnut.com/l/_Yoq3YpAVjnkh


3. What is the role of molybdenum in the

conversion of nitrogen into ammonia?

Watch Video Solution

4. What is the role of potassium on osmotic

potential of the cell?

Watch Video Solution

https://dl.doubtnut.com/l/_kZHyaNOzSd5K
https://dl.doubtnut.com/l/_0evCOzaCZCVC


5. What are the deficiency symptoms of

nitrogen?

Watch Video Solution

6. Explain the role of sulphur in plant

biochemistry.

Watch Video Solution

7. Write notes on siderophores.

https://dl.doubtnut.com/l/_bqsKKoXWtXdA
https://dl.doubtnut.com/l/_K3wG2pvz14ES
https://dl.doubtnut.com/l/_CDIh2gZ1OLyW


Watch Video Solution

8. List out any two iron deficiency symptoms in

plants.

Watch Video Solution

9. What is the role of Boron in plant

physiology.

Watch Video Solution

https://dl.doubtnut.com/l/_CDIh2gZ1OLyW
https://dl.doubtnut.com/l/_GqebLgjvYfOW
https://dl.doubtnut.com/l/_hyRSu0nocjHO
https://dl.doubtnut.com/l/_rrZ7OCcYe6sH


10. Write down the deficiency symptoms of

molybdenum in plants.

Watch Video Solution

11. Explain briefly about aluminium toxicity on

plants.

Watch Video Solution

12. Write short notes on aeroponics.

https://dl.doubtnut.com/l/_rrZ7OCcYe6sH
https://dl.doubtnut.com/l/_ElFYH66E2Vxz
https://dl.doubtnut.com/l/_lqfbRPKjCzIa


Watch Video Solution

13. Define nitrogen fixation. Mention its types.

Watch Video Solution

14. Mention any two ways of non-biological

nitrogen fixation.

Watch Video Solution

https://dl.doubtnut.com/l/_lqfbRPKjCzIa
https://dl.doubtnut.com/l/_2B0Mfj7pjQIC
https://dl.doubtnut.com/l/_hifBOwE1iXu0


15. Match the following. 

Watch Video Solution

16. Define the term Nitrate assimilation.

Watch Video Solution

17. Explain the term Transamination.

https://dl.doubtnut.com/l/_DBoY9oxqWsQN
https://dl.doubtnut.com/l/_KE07f8Gs6Ave
https://dl.doubtnut.com/l/_Gg266LRTVIJt


Watch Video Solution

18. Explain briefly about total stem parasite.

Watch Video Solution

19. Give two examples of symbiotic mode of

nutrition.

Watch Video Solution

https://dl.doubtnut.com/l/_Gg266LRTVIJt
https://dl.doubtnut.com/l/_uYT3L8QSezvs
https://dl.doubtnut.com/l/_StewIiPjPUNv


20. Explain the insectivorous mode of

nutrition in angiosperms ?

Watch Video Solution

21. What are the criteria required for essential

minerals?

Watch Video Solution

https://dl.doubtnut.com/l/_cpDonler6Tlm
https://dl.doubtnut.com/l/_RmdAIiw1LNu8


22. Explain the unclassified minerals required

for plants.

Watch Video Solution

23. Distinguish between macro and micro

nutrients?

Watch Video Solution

https://dl.doubtnut.com/l/_zdAaOdrNRSDl
https://dl.doubtnut.com/l/_qnNhROgyc7W3


24. Explain briefly the functions and deficiency

symptoms of potassium.

Watch Video Solution

25. What is meant by Chelating agents?

Explain the role of EDTA as chemical chelating

agent.

Watch Video Solution

https://dl.doubtnut.com/l/_08HkxN2W0H4P
https://dl.doubtnut.com/l/_1Eh2Ptw7nAja


26. Explain the term critical concentration of

minerals.

Watch Video Solution

27. Describe the competitive behaviour of iron

and manganese.

Watch Video Solution

https://dl.doubtnut.com/l/_NyHa56Z7LeSd
https://dl.doubtnut.com/l/_sJaRsLsjYAq5


28. Who are people responsible for developing

hydroponics?

Watch Video Solution

29. List out the free living bacteria and fungi

responsible for non-symbiotic nitrogen

fixation.

Watch Video Solution

https://dl.doubtnut.com/l/_W96ye8Wp6jkT
https://dl.doubtnut.com/l/_UDDwjDzCGHej


30. Define the term Ammonification.

Watch Video Solution

31. Describe catalytic amination.

Watch Video Solution

32. Compare the partial stem parasite and

partial root parasite.

Watch Video Solution

https://dl.doubtnut.com/l/_IAswZ64VdItG
https://dl.doubtnut.com/l/_ZDwOwPN0qqrG
https://dl.doubtnut.com/l/_IDTUBdOY5UXC


33. Explain the mode of nutrition in pitcher

plant.

Watch Video Solution

34. What is meant by saprophytic mode of

nutrition?

Watch Video Solution

https://dl.doubtnut.com/l/_IDTUBdOY5UXC
https://dl.doubtnut.com/l/_rmb1oaZMiSwc
https://dl.doubtnut.com/l/_nFWw3vaTbkUS


35. Describe briefly the method of nitrogen

fixation in leguminous plants.

Watch Video Solution

36. Write an essay on the functions and

deficiency symptoms of macro nutrients.

Watch Video Solution

https://dl.doubtnut.com/l/_AF7Gf8rQvGHN
https://dl.doubtnut.com/l/_uMzKTf6yqmae


37. Describe the role of micro nutrients on

plant health and function.

Watch Video Solution

38. Give the details of minerals and their

deficiency symptoms.

Watch Video Solution

https://dl.doubtnut.com/l/_78uB1b4g16oZ
https://dl.doubtnut.com/l/_6wXX2tb2RNxH


39. Describe the various stages of nirogen

cycle.

Watch Video Solution

40. Describe biological nitrogen fixation with

reference to Rhizobium and Legume.

Watch Video Solution

https://dl.doubtnut.com/l/_14NxYlbZVYCx
https://dl.doubtnut.com/l/_bE5hxsEr9gKd

